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65° 3.0 4| D. 60 0.40 0] 45 0.30 0.50 0./40 0.20
4.0 5| D. 75 0.40 0} 60 0.30 0.60 0./50 0.20
(1 0.8)2.0 .35 0.40 0. 50 . 30 0.40 0.30 .15
70° 75°2.0 3| D. 45 0.40 0} 70 0.30 0.40 0./40 0.15
(1 0.1‘2' 35 . 40 0.45b 30 0.40 30 0]. 15
65 ° 7002.0 3. D. 45 0 0 0} 60 0.30 0.40 0./40 0.15
3.0 4. D. 60 0.40 O} 75 0.30 0.50 0./50 0.20
2.0 .135 0.40 0. 40 .30 0.40 0.30 .15
(1 0.ppR. 0 3| D. 45 0.40 0} 50 0.30 0.40 0./40 0.15
65° 3.0 4| D. 60 0.40 0] 65 0.30 0.50 0./50 0.20
4.0 5| D. 75 0.40 0} 80 0.30 0.60 0./60 0.20
(1 0.8)2.0 .14 5 0.70 0. 85 .30 0.40 0.40 .15
70° 75/°2.0 3| D. 60 0. 70 0] 90 0.30 0.40 0./45 0.15
(1 0_1)2'0 . 145 0.70 0. 75 . 30 0.40 0.45 .15
65 ° 7002.0 3. D. 60 .10 0] 85 0.30 0.40 0./50 0.15
3.0 4. D. 80 0. 70 1|, 05 0.30 0.50 0./65 0.20
2.0 .45 0.70 0. 70 .30 0.40 0.45 .15
(1 0.pp. 0 3| D. 60 0. 710 0} 80 0.30 0.40 0./50 0.15
65° 3.0 4. D. 80 0. 70 0} 95 0.30 0.50 0./65 0.20
4. 0 5| 1L.00 0. 710 1120 0.30 0.60 0./80 0.20




30°

11-24

11-3

11-25

300

\ § VA2

(10)
H
VANZ\Y
Hu
He

100

100

-113 -

ANZ\\Y

30

75mm 1



=30°
p=0.5
11-24 k N/ m2
H H H N B
H 500 250 150 0|50 250 - -
500 H 1,0p0 35( 150 0.50 B0O -
1,000 H 1,/]500 3830 150 0.5p0 350
1,500 H 2,/]000 330 150 0.p5 350
2m
=10 N/

®=30°
p=0.5
11-25 k N/ m2

H H H N B

H 500 250 150 0|50 400 - -
500 H 1,0p0 35( 150 0.50 100 -
1,000 H 1,/]500 3830 150 0.5p5 400
1,500 H 2,000 330 150 0.p5 400

2m

- 114 -



(11)

11-25 L
fg  Hi ef b e
R
1/ 3
P328
11-26
a b
L LERES 1
| B FrikEs
FEHER
iH TEREER
. EX T
. s
i
< /|
I ?
FEHER
O LERER
11 11
4 24 N/ mm
SD345
o
4 T ¢
10mm mm
o =200N/ mm
T =1. 6N/ mm
® mm

-115-

be
fg



11-26

mm W kg/ m
D13 410 0.995
D16 500 1.56
D19 600 2.25
D22 690 3.04
D25 790 3.98
D29 910 5.04
D32 1000 6. 23
40
11-27
11-27
D13 D16 D19 D2 2 D25
125mm o o o
250mm o o o o o o
11-28
11-28
D13 D16 D19 D22 D25 D209 D32
250mm 125mm
D13ctc230mm o o o) o) Ie o

D16c¢ctc230mm

D19ctc230mm

-116 -

D29

D22



11-27
|
F 3
b
4 b EBEX  A0¢
F |
b |4
I Y i -
> b >
b
>
. H 2m
3m 50 3m 60cm

. 3.0m =50cm
o 3.0m =60cm
. L 2.0m

-117 -



P343

11-29

11-29

Eo

om

Eo

om

-
-

X

D (

6cm

4cm

Eo

ON

-118 -



(12)

()
11-30
10
20
()
()
11-31
10
20
() F=18N/ mm
()
11-30
300 ] 200 2SN
TR E R
UL A EAE (BTHLORT)
;"#—— i dxlvoliat)
VaAy MRRHB R (EHET)
NN BEAHL (1:3)
EHE=7U—F (t=10cm)
BANE ZEH (REZARE)
L 1
¥
100 100

L=2.00m

-119 -



(13)
27 2

~ A~~~
~— N~ N

11-31

AN
O
O

o\ \Z\} Va\Za\

11-32

35 0.15H

45 0. 20H

-120 -



11-32
NN
H
NN
h
11-33
N W \Z\ll A%\
/] H
H
h I
11-32 11-32
h h
11-33
10.0 m
20.0 m

-121 -




B

11-34

10

20

5m
3m
30cm 50cm
11-14
11-35
3m

(b)

NI

WAy b

e

Im# &8 % Smid T

~
-
\:
-~

Smée B A Smll T

50emi b

1J_-’]-:_.—.| s em b ;FE;

{5~ 10cnfEH)

W - R

-122 -

U

FEkw o b

Boombd Lo

—_—
Slembd L
- ¥
15 =M E

(5~ 10cmfE i)

\
b - FEES



(14)

P378
11-36
ARG RS
ik Bkt
TR H A )
s =
HEL

5% tE

(a) RELHT (b) :‘“ﬁ%ﬁ&;t

26 6 26 249 10 2
27 1

-123 -



12

28

19

lha

~ /N /N /SN

~— N~ N~ ~—~ ~—~

- 124 -



N —

(1)

(2)
150 [/ ha

P25 P27

-125-



12-1

550 7@0ham

700 1,80 m

500 6&0Oham

1,200 13%@0 m
250 4G0ham
12-2
3
2 1

-126 -




27

26

26

-127 -

249

10



(1)
(2)
(3)
(4)
(5)
(6)

(7)
(8)

(1)
(2)

(3)

13

P51

P64

-128 -



(4)
(5)
(6)

(7)

(1)
(2)
(3)
(4)
(5)
(6)

(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
(9)
(10)
(11)
(12)
(13)
(14)

43 100
36 191
25 201
30 29
44 57
12
27 180
39 167
33 30
49 92
32 161
25 214
27 229
44 58

-129 -

P53

57



(15) 26 249
(16) 47 85
(17) 14 88
(18) 40 30
(19) 48 42
(20) 4 17
(21) 7 26
(22) 27 6
2.
33 8
P54
13-1
39 1
3 1
56 1
P54

- 130 -




13-2

P62

20

25

25

14

-131-




13-1

it

T S

P54

-132 -



(1)

(2)

P61
4 9
[ ]
https://www.city.hikone.lg.jpl/
[ ]
- https://shiga-bousai.jp/dmap/top/index

—

https:// www. pref.shiga.lg.jp/ippan/kendoseibil/kas

—
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